

Republic of the Philippines CAVITE STATE UNIVERSITY Don Severino de las Alas Campus

Indang, Cavite, Philippines (046) 889-6373

www.cvsu.edu.ph

INVITATION TO SUBMIT PROPOSAL Supply and Delivery of Laboratory Supplies for Medical Technology

 The Cavite State University (CvSU) invites interested firms/supplier to submit quotation for the project "Supply and Delivery of Laboratory Supplies for Medical Technology" with an Approved Budget for the Contract (ABC) of Nine Hundred Eighty-One Thousand Six Hundred Fourteen Pesos Only (PhP 981,614.00). Quotation received in excess of the ABC shall be automatically rejected at the opening.

Item No.	Quantity	Unit	Description	Unit Cost	Total Cost
1.	1	Unit	0.1N hydrochloric acid 500 ml colorless liquid with chemical safety information label	350.00	350.00
2.	1	Unit	100% Acetone500 ml colorless liquid with chemical safety information label	1,579.00	1,579.00
3.	3	Units	3% Sulfosalicylic acid	2,410.00	7,230.00
4.	20	Units	Absolute Alcohol 1 x 1 L per unit	2,000.00	40,000.00
5.	1	Unit	Acetic acid 500 ml colorless liquid with chemical safety information label	1,020.00	1,020.00
6.	10	Units	Acid Fast Stain • complete set per unit, hot method, ready to use stain chemical	3,500.00	35,000.00
7.	15	vials	AHG Polyspecific • 10 ml per vial at with approximate 200 test • Shelf life of 2-3 years	360.00	5,400.00
8.	5	Units	Alanine Transferase (ALT/SGPT) • ready to use liquid reagent with standard: working reagent stable up to 4 weeks; Liqui-UV test, 4 x 30 ml test	5,500.00	27,500.00
9.	2	Bxs	Albumin • ready to use liquid reagent with standard; 2 x 250 ml test for colorimetric assay	7,600.00	15,200.00
10.	5	Unit	Alcohol Saliva Test Kit • box of 25 tests per kit (2 boxes)	1,005.00	5,025.00
11.	1	Unit	Alpha naphthol • bottled solution; 500 ml, laboratory grade,	1,500.00	1,500.00
12.	1	Unit	Ammonia Water • 500 ml; 25% solution with chemical safety information label.	1,505.00	1,505.00
13.	1	Unit	Ammonium hydroxide • 500 ml colorless liquid with chemical safety information label	3,600.00	3,600.00
14.	2	Units	ASO latex	3,600.00	7,200.00

	<u> </u>		- approving stally 400 tast as a second	T	1		
			approximately 100 test per set; with latex reagent				
			with positive and negative control,				
			stirrer				
			test slides, dispensing bottle and				
			dispensing needle/tip				
			Shelf-life of 2-3 years				
			AST/SGOT				
15.	5	Units	ready to use liquid reagent with	5,500.00	27,500.00		
10.	Ŭ	Offics	standard: working reagent stable up to 4	3,300.00	27,000.00		
			weeks; Liqui-UV test, 4 x 30 ml test				
16.	2	bxs	Barbiturates Test Kit	3,000.00	6,000.00		
			box of 25 tests per kit (2 boxes) Barium Chloride				
17.	1	Unit	• 1 bottle x 100g (Amazon)	753.00	753.00		
			Benedict's Solution /reagent				
18.	5	Units	• 500 ml qualitative solution with	318.00	1,590.00		
			chemical safety information label		.,555.65		
19.	1	Unit	Benzidine solution	1,090.00	1,090.00		
19.	ı	Offic	• 1 bottle	1,090.00	1,090.00		
20.	2	Units	Benzodiazepine Test Kit	509.00	1,018.00		
20.		Office	• 1 box with 25 tests per kit	303.00			
21.	1	Unit	Benzyl Chloride	550.00	550.00		
	-		• 1 bottle x 500 ml				
22.	3	Units	Bilirubin	4 000 00	12 000 0		
22.	٥	Units	• ready to use liquid accessory reagent with total bilirubin: 250 ml test	4,000.00	12,000.0		
			Blood agar base				
		Units	• 500 grams per unit	4,800.00	48,000.00		
23.	10		• sealed, with product label, stable pH				
			and stored at Room temperature				
			Shelf-life of 2-3 years				
			Blood typing sera (Anti-A and Anti-B)		20,000.00		
24.	20	20 Units	• 10 ml per vial at with approximate 200	1,000.00			
			test				
			• Shelf life of 2-3 years				
			Blood typing sera (Anti-D) • 10 ml per vial at with approximate 200				
25.	20	Units	test	1,000.00	20,000.00		
			Shelf life of 2-3 years				
			Blood Urea Nitrogen (BUN) reagent test				
			kit				
26.	5	Units	• ready to use liquid reagent with 3	2,856.00	14,280.00		
			standards : 25 mg/dl; 50 mg/dl and 75				
			mg/dl; 250 test for enzymatic assay;.				
			Blood Uric Acid (BUA) reagent test kit				
27.	5	Units	• ready to use liquid reagent with	2,856.00	14,280.00		
			standard: 2 x 250 ml test for enzymatic	, l	ŕ		
			assay; with lipid clearing factor Carbol Fuschin				
28.	1	Unit	• 1 bottle x 100ml	543.00	543.00		
	_		Cedarwood oil for microscope				
29.	5	Units	• 1 x 5ml	160.00	800.00		
			Chloroform				
30.	1	Unit	250 ml colorless liquid with chemical	1,000.00	1,000.00		
			safety information label	, , , , , , , , , , , , , , , , , , ,			
			Cholesterol				
31.	5	Units	Iliquid reagent for diagnostic set with	4,088.00	20,440.00		
					standard; 120 tests for colorimetric		

			assay 560 mL with working stability until		
32.	2	Units	expiration date Clinical Chemistry Abnormal Control • complete chemistry control ready to use for 60 analytes; liquid material	1,300.00	2,600.00
33.	2	Units	Clinical Chemistry Normal Control • complete chemistry control ready to use for 60 analytes; liquid material	1,300.00	2,600.00
34.	1	Unit	Cocaine test kit • box of 25 tests per kit (2 boxes)	829.00	829.00
35.	1	Unit	Conc. Sulfuric acid • 1 bottle x 250 ml	700.00	700.00
36.	1	Unit	Copper sulfate (cupric solution) • 100 g per bottle with chemical safety information label	942.00	942.00
37.	5	Units	Creatinine reagent • ready to use liquid reagent with standard; 3 x 125; 1 x 125 ml test for enzymatic assay; with 2 reagent dispensing analyzers	2,960.00	14,800.00
38.	5	Units	 Eosin Methylene Blue agar 500-1000 grams per unit sealed, with product label, stable pH and stored at Room temperature Shelf-life of 2-3 years 	5,100.00	25,500.00
39.	20	Unit	Ethyl Alcohol • 1 x 1L per unit	1,000.00	20,000.00
40.	1	Unit	Eukitt mounting medium • 1 unit	3,000.00	3,000.00
41.	1	Unit	Fecal Occult blood test kit • 100 per box	3,500.00	3,500.00
42.	1	Unit	Fehling's A • 500 ml per unit	350.00	350.00
43.	1	Unit	Fehling's B • 500 ml per unit	350.00	350.00
44.	3	Units	Formalin Stock Solution • 1 L per unit; colorless and clear in plastic jerrycan bottle with safety data sheet	4.010.00	12,030.00
45.	2	Units	Giemsa stain set • 100 ml per unit with phosphate buffered solution	350.00	700.00
46.	5	Units	Glucose • ready to use liquid reagent with standard: working reagent stable up to expiration date; LiquiColor test, 1 x 250 ml test	3,002.00	15,010.00
47.	1	Unit	Glycerine • 1 x 4 kg; ACS grade	550.00	550.00
48.	1	Unit	Glycerol • 1 x 1 L per unit; ACS grade	457.00	457.00
49.	10	Units	Gram Stain Set • complete set per unit, ready to use stain chemical	3,500.00	35,000.00
50.	2	Units	Harris hematoxylin • 500 ml per unit ready to use stain	1,500.00	3,000.00
51.	2	Units	HCG Test kit • 2 x 2 box (25 pieces/box)	625.00	1,250.00
52.	5	Units	HemaStain	3,500.00	17,500.00

			•Complete staining set 500mL each		
53.	5	Units	Hepatitis Test Kit	2,000.00	10,000.00
		Ormo	box of 25 tests per kit (2 boxes)	2,000.00	10,000.00
54.	1	Unit	Hydrochloric acid 500 ml with chemical safety information label	2,100.00	2,100.00
55.	1	Unit	India Ink • 25-50 ml per bottle; ready to use stain	75.00	75.00
56.	1	Unit	Litmus paper • blue litmus paper strips, 100 strip/box	180.00	180.00
57.	1	Unit	Litmus paper • red litmus paper strips, 100 strip/box	180.00	180.00
58.	10	Units	Low Ionic Strength Solution • 10 ml per vial at with approximate 200 test • Shelf life of 2-3 years	1,000.00	10,000.00
59.	2	Units	Lugol's iodine • 1000 mL per unit	2,850.00	5,700.00
60.	3	Units	Lysine iron agar • 500 grams per unit • sealed, with product label, stable pH and stored at Room temperature • Shelf-life of 2-3 years	4,500.00	13,500.00
61.	3	Units	Mac conkey agar • 500-1000 grams per unit • sealed, with product label, stable pH and stored at Room temperature • Shelf-life of 2-3 years	4,500.00	13,500.00
62.	5	Units	Mannitol salt agar • 500 grams per unit • sealed, with product label, stable pH and stored at Room temperature • Shelf-life of 2-3 years	3,500.00	17,500.00
63.	10	Units	Methyl Alcohol • 1 x 1L per unit	1,000.00	10,000.00
64.	5	Units	MR-VP medium • 500 grams per unit • sealed, with product label, stable pH and stored at Room temperature • Shelf-life of 2-3 years	4,500.00	22,500.00
65.	10	Units	Mueller hinton agar • 500 grams per unit • sealed, with product label, stable pH and stored at Room temperature • Shelf-life of 2-3 years	4,500.00	45,000.00
66.	2	Units	New methylene blue • 500 ml per unit ready to use stain	1,904.00	3,808.00
67.	1	Unit	Nitric acid • 500 ml per unit; ready to use	210.00	210.00
68.	10	Units	Nutrient agar • 500 grams per unit • sealed, with product label, stable pH and stored at Room temperature • Shelf-life of 2-3 years	6,500.00	65,000.00
69.	6	Vials	Nutrient broth	5,400.00	32,400.00
70.	5	Units	Paraffin/Paralast embedding medium	1,000.00	5,000.00

			• 1 x 1kg		
			Phenol		
71.	1	Units	• 1 kg per unit, 99% pure, with chemical safety information sheet	1,505.00	1,505.00
72.	1	Units	Potassium hydroxide • flakes, reagent grade, 90%, with chemical safety information label	3,785.00	3,785.00
73.	2	Units	Povidone Iodine Solution • 1L per unit; 10% antiseptic solution	425.00	850.00
74.	5	Units	RBC diluting fluid • 500 ml per unit reagent bottles with kit inser	450.00	2,250.00
75.	2	Units	Rees and Ecker • 500 ml per unit bottles with kit insert	400.00	800.00
76.	10	Bxs	RPR test kit • approximately 100 test per set; with carbon antigen • with positive and negative control, stirrer • test slides, dispensing bottle and dispensing needle/tip • Shelf-life of 2-3 years	2,200.00	22,000.00
77.	5	Bxs	RPR test kit • approximately 100 test per set; with carbon antigen • with positive and negative control, stirrer • test slides, dispensing bottle and dispensing needle/tip • Shelf-life of 2-3 years	5,600.00	28,000.00
78.	5	Vials	Salmonella Shigella agar • 500-1000 grams per unit • sealed, with product label, stable pH and stored at Room temperature • Shelf-life of 2-3 years	5,400.00	27,000.00
79.	5	Units	Simmons citrate agar • 500 grams per unit • sealed, with product label, stable pH and stored at Room temperature • Shelf-life of 2-3 years	5,600.00	28,000.00
80.	5	Units	TCBS agar • 500 grams per unit • sealed, with product label, stable pH and stored at Room temperature • Shelf-life of 2-3 years	5,800.00	29,000.00
81.	5	Units	Triple Sugar Iron agar • 500-1000 grams per unit • sealed, with product label, stable pH and stored at Room temperature • Shelf-life of 2-3 years	4,400.00	22,000.00
82.	10	Units	Urine Reagent Strip (10 para.) • 100 strips per kit	880.00	8,800.00
83.	15	Units	Urine Reagent Strip (4 para.) • 100 strips per kit	420.00	6,300.00
84.	3	Units	WBC diluting fluid • 500 ml per unit reagent bottles with kit insert	350.00	1,050.00
85.	10	Units	Wright's stain • 500 ml per unit ready to use stain	4,000.00	40,000.00
86.	2	Units	Xylene	500.00	1,000.00

	• 500 ml, ACS reagent grade			
		TO.	TAL AMOUNT	981,614.00

- Delivery Period: calendar days from the receipt of P.O.
- 3. Price quotations must be valid for a period of sixty (60) calendar days from date of submission and shall include all taxes, duties and/or levies payable. Bidders shall also indicate the brand and model of the items being offered.
- 4. Warranty shall be for a period of six (6) months for supplies and materials. Warranty for equipment must not be less than one (1) year from the date of acceptance and shall be accompanied with Warranty Certificate.
- 5. The quotation must be submitted to the Procurement Office through mail, fax or email at the contact details listed below **on or before 5:00 PM** of **May 23, 2024.**

Address : Procurement Office, Administration Building

Cavite State University

Indang, Cavite

E-mail : procurementoffice@cvsu.edu.ph / rfqmain@cvsu.edu.ph

Telefax : (046) 889-6373

6. The CvSU reserves the right to reject any or all quotations and/or proposals and waive any formalities/informalities therein and to accept such bids it may consider as most advantageous to the agency and to the government. CvSU neither assumes any obligation for whatsoever losses that may be incurred in the preparation of bids, nor does it guarantee that an award will be made.

ROSELYN M. MARANAN

BAC Secretary, Goods and Consulting Services